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1. Which of the following is an

advantage of using a database in

educational institutions ?

(A) Creating animations for

lectures

(B) Managing student records and

attendance

(C) Making PPT

(D) Printing textbooks

2. Which of the following is an

example of a real-world database

application ?

(A) ATM System

(B) Text Editor

(C) Graphic Design Software

(D) Image Viewer

3. What is the primary goal of

encryption in database security ?

(A) To reduce database size

(B) To prevent unauthorized

access to sensitive data

(C) To enable faster backups

(D) To enhance indexing

capabilities

1. 'kS{kf.kd laLFkkuksa esa MsVkcsl dk mi;ksx

djus dk ykHk D;k gS \

(A) O;k[;ku ds fy, ,uhes'ku

cukuk

(B) Nk= fjdkWMZ vkSj mifLFkfr izcaf/kr

djuk

(C) PPT dk fuekZ.k djus gsrq

(D) ikB~;iqLrdksa dks fizaV djuk

2. fuEufyf[kr esa ls dkSu ,d okLrfod

nqfu;k dk MsVkcsl vuqiz;ksx gS \

(A) ,Vh,e iz.kkyh

(B) VsDLV ,fMVj

(C) xzkfQd fMtkbu lkW¶Vos;j

(D) best O;wvj

3. MsVkcsl lqj{kk esa ,fUØI'ku dk eq[; mís';

D;k gS \

(A) MsVkcsl dk vkdkj de djuk

(B) laosnu'khy MsVk rd vuf/kÏr igq¡p

dks jksduk

(C) rst cSdvi l{ke djuk

(D) b.MsfDlax {kerkvksa dks c<+kuk
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4. What is the primary purpose of

database recovery ?

(A) To enhance query performance

(B) To encrypt the database for

security

(C) To improve database indexing

(D) To restore the database to a

consistent state after a failure

5. Which of the following commands

is used to delete a table in SQL ?

(A) DELETE TABLE

(B) REMOVE TABLE

(C) DROP TABLE

(D) ERASE TABLE

6. Which of the following is NOT a

component of DBMS ?

(A) Database engine

(B) Query processor

(C) Linker

(D) Metadata

7. Which of the following is NOT a

type of database model ?

(A) Hierarchical model

(B) Network model

(C) Flat-file model

(D) Virtual file model

4. MsVkcsl fjdojh dk eq[; mís'; D;k gS \

(A) Dosjh izn'kZu dks csgrj cukuk

(B) MsVkcsl dks lqj{kk ds fy, ,fUØIV

djuk

(C) MsVkcsl b.MsfDlax esa lq/kkj djuk

(D) foQyrk ds ckn MsVkcsl dks laxr

fLFkfr esa iquLFkkZfir djuk

5. SQL esa fdlh rkfydk dks gVkus ds fy,

fdl dekaM dk mi;ksx fd;k tkrk gS \

(A) DELETE TABLE

(B) REMOVE TABLE

(C) DROP TABLE

(D) ERASE TABLE

6. fuEufyf[kr esa ls dkSu DBMS dk ?kVd

ugha gS \

(A) MsVkcsl batu

(B) Dosjh izkslslj

(C) fyadj

(D) esVkMsVk

7. fuEufyf[kr esa ls dkSulk MsVkcsl ekWMy

dk izdkj ugha gS \

(A) gkbjk£ddy ekWMy

(B) usVodZ ekWMy

(C) ¶ySV&Qkby ekWMy

(D) opqZvy Qkby ekWMy
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8. The main purpose of a database is :

(A) To store information

(B) To retrieve information

(C) To manage information

(D) All of the above

9. Which of the following is a

database management system ?

(A) MySQL

(B) Oracle

(C) Microsoft SQL Server

(D) All of the above

10. Which data structure is used in

Hierarchical model records ?

(A) Tree

(B) Graph

(C) Linked list

(D) Stacks

11. Which of the following cannot be

NULL in a table ?

(A) Foreign key

(B) Alternate key

(C) Primary key

(D) Composite key

8. MsVkcsl dk eq[; mís'; gS %

(A) tkudkjh laxzghr djuk

(B) tkudkjh iqu% izkIr djuk

(C) tkudkjh izcaf/kr djuk

(D) mijksDr lHkh

9. fuEufyf[kr esa ls dkSu ,d MsVkcsl izca/ku

iz.kkyh (DBMS) gS \

(A) MySQL

(B) Oracle

(C) Microsoft SQL Server

(D) mijksDr lHkh

10. gk;j£ddy ekWMy (Hierarchical

model) ds fjdkWMZ~l esa dkSu lk MsVk lajpuk

(Data Structure) mi;ksx dh tkrh gS %

(A) Vªh (Tree)

(B) xzkQ+ (Graph)

(C) fyaDM fyLV (Linked list)

(D) LVSDl (Stacks)

11. rkfydk esa buesa ls dkSu NULL ugha gks

ldrk \

(A) fons'kh daqth (Foreign key)

(B) oSdfYid daqth (Alternate key)

(C) izkFkfed daqth (Primary key)

(D) la;ksftr daqth (Composite key)
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12. What is the primary purpose of a

data model ?

(A) To define programming syntax

(B) To describe the structure of a

database

(C) To manage hardware

components

(D) To perform data analysis

13. Why is a data model essential in

database design ?

(A) It reduces the need for data

security.

(B) It simplifies complex data

structures.

(C) It eliminates the need for

database software.

(D) It automatically writes queries

for the user.

14. How does a data model facilitate

communication ?

(A) By providing a programming

language.

(B) By providing a common

language for stakeholders.

(C) By designing user interfaces.

(D) By offering cloud storage

solutions.

12. MsVk ekWMy dk eq[; mís'; D;k gS \

(A) izksxzkfeax flaVSDl dks ifjHkkf"kr

djuk

(B) MkVkcsl dh lajpuk dk o.kZu

djuk

(C) gkMZos;j ?kVdksa dks izcaf/kr djuk

(D) MsVk fo'ys"k.k djuk

13. MkVkcsl fMt+kbu esa MsVk ekWMy D;ksa

vko';d gS \

(A) ;g MsVk lqj{kk dh vko';drk dks

de djrk gSA

(B) ;g tfVy MsVk lajpukvksa dks ljy

cukrk gSA

(C) ;g MkVkcsl lkW¶Vos;j dh

vko';drk dks lekIr djrk gSA

(D) ;g Lopkfyr :i ls mi;ksxdrkZ ds

fy, Dosjh fy[krk gSA

14. MsVk ekWMy lapkj dks dSls lqfo/kktud

cukrk gS \

(A) ,d izksxzkfeax Hkk"kk iznku djdsA

(B) fgr/kkjdksa ds fy, ,d lkekU; Hkk"kk

iznku djdsA

(C) mi;ksxdrkZ baVjQsl fMt+kbu

djdsA

(D) DykmM LVksjst lek/kku iznku

djdsA
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15. What is the key characteristic of

the Network Data Model ?

(A) Data is stored as documents.

(B) Data is stored in binary

objects.

(C) Data is arranged in

hierarchical levels.

(D) Data is organized in a graph

with links

16. Which of the following is an

example of a weak entity ?

(A) Student

(B) Employee

(C) Order Details (dependent on

Order)

(D) Product

17. Which attribute type can take

multiple values for a single entity ?

(A) Simple

(B) Composite

(C) Multivalued

(D) Derived

15. usVodZ MsVk ekWMy dh izeq[k fo'ks"krk D;k

gS \

(A) MsVk nLrkost+ksa ds :i esa laxzghr

fd;k tkrk gSA

(B) MsVk ckbujh vkWCtsDV~l esa laxzghr

fd;k tkrk gSA

(C) MsVk dks vuqØfed Lrjksa esa O;ofLFkr

fd;k tkrk gSA

(D) MsVk dks fyad ds lkFk ,d xzkQ esa

laxfBr fd;k tkrk gSA

16. fuEufyf[kr esa ls dkSu lk ,d detksj

bdkbZ (weak entity) dk mnkgj.k gS \

(A) Nk=

(B) deZpkjh

(C) vkns'k fooj.k (vkns'k ij fuHkZj)

(D) mRikn

17. dkSulk xq.k (attribute) ,dy bdkbZ ds

fy, dbZ eku ys ldrk gS \

(A) ljy

(B) la;qDr

(C) cgq&ewY;

(D) O;qRiUu
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18. What does cardinality in an ER

model specify ?

(A) The storage location of data

(B) The number of relationships

between entities

(C) The syntax for database

queries

(D) The attributes of an entity

19. What is the function of a primary

key in the ER model ?

(A) To uniquely identify an entity

in a table’

(B) To describe relationships

between entities

(C) To provide default values for

attributes

(D) To store multiple values for

a single attribute

20. What does the degree of a relation

represent ?

(A) The number of attributes

(columns)

(B) The number of rows

(C) The number of tuples

(D) The number of databases

18. ER ekWMy esa dkfMZuSfyVh D;k fu£n"V

djrh gS \

(A) MsVk dk laxzg.k LFkku

(B) laLFkkvksa ds chp fj'rksa dh la[;k

(C) MkVkcsl Dosjh ds fy, flaVSDl

(D) laLFkk ds xq.k

19. ER ekWMy esa izkFkfed daqth (primary

key) dk dk;Z D;k gS \

(A) rkfydk esa ,d laLFkk dks vf}rh;

:i ls igpkuuk

(B) laLFkkvksa ds chp fj'rksa dks o£.kr

djuk

(C) xq.kksa ds fy, fMQ+kWYV eku iznku

djuk

(D) ,dy xq.k ds fy, dbZ eku laxzghr

djuk

20. fjys'ku dh fMxzh D;k n'kkZrh gS \

(A) xq.kksa (dkWye) dh la[;k

(B) iafDr;ksa dh la[;k

(C) V~;wiYl dh la[;k

(D) MsVkcsl dh la[;k
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21. Which of the following is NOT a

characteristic of SQL ?

(A) It is a non-procedural

language.

(B) It is platform-dependent.

(C) It is set-oriented.

(D) It is declarative.

22. Which operator is used in SQL for

pattern matching ?

(A) =

(B) LIKE

(C) IN

(D) BETWEEN

23. What is the result of combining

AND and OR operators in a query

without parentheses ?

(A) AND is executed first, then

OR.

(B) OR is executed first, then

AND.

(C) Execution order is random.

(D) Both are executed

simultaneously.

21. fuEufyf[kr esa ls dkSu lk SQL dh

fo'ks"krk ugha gS \

(A) ;g ,d xSj&izfØ;kRed Hkk"kk gSA

(B) ;g IysVQ+kWeZ&fMisaMsaV gSA

(C) ;g lsV&vksfj,aVsM gSA

(D) ;g fMDysjsfVo gSA

22. SQL esa iSVuZ feyku ds fy, dkSu lk

vkWijsVj mi;ksx fd;k tkrk gS \

(A) =

(B) LIKE

(C) IN

(D) BETWEEN

23. tc AND vkSj OR vkWijsVj dks fcuk

dks"Bd ds feyk;k tkrk gS] rks Dosjh dk

ifj.kke D;k gksxk \

(A) igys AND fu"ikfnr gksrk gS] fQj

ORA

(B) igys OR fu"ikfnr gksrk gS] fQj

ANDA

(C) fu"iknu Øe ;kn`fPNd gksrk gSA

(D) nksuksa ,d lkFk fu"ikfnr gksrs gSaA
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24. BETWEEN vkWijsVj fuEufyf[kr esa ls

fdls 'kkfey djrk gS \

(A) dsoy fupyk ekuA

(B) dsoy Åijh ekuA

(C) nksuksa fupyk vkSj Åijh ekuA

(D) u rks fupyk vkSj u gh Åijh

ekuA

25. SQL esa Dosjh ifj.kkesa dks lkWVZ djus ds

fy, dkSu lk DykWt mi;ksx fd;k tkrk gS\

(A) WHERE

(B) GROUP BY

(C) HAVING

(D) ORDER BY

26. mEehnokj daqth (Candidate Kay) ds

ckjs esa fuEufyf[kr esa ls dkSu lk dFku

lR; gS \

(A) ;g ,d lqij daqth gS ftlesa

vuko';d fo'ks"krk,¡ ugha gksrh gSaA

(B) ;g ,d fons'kh daath gS tks rkfydkvksa

dks tksM+rh gSA

(C) ;g ges'kk ,d la;ksftr daqth

(Composite Key) gksrh gSA

(D) blesa NULL eku gks ldrs gSaA

24. The BETWEEN operator includes

which of the following ?

(A) Only the lower value.

(B) Only the upper value.

(C) Both lower and upper values.

(D) Neither lower nor upper

values.

25. Which SQL clause is used to sort

query results ?

(A) WHERE

(B) GROUP BY

(C) HAVING

(D) ORDER BY

26. Which of the following is true

about a candidate key ?

(A) It is a super key with

unnecessary attributes

removed.

(B) It is a foreign key that links

tables.

(C) It is always a composite key.

(D) It can have NULL values.
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27. Which of the following is true

about an alternate key ?

(A) It is the same as the primary

key.

(B) It is any candidate key that is

not selected as the primary

key.

(C) It refers to a primary key in

another table.

(D) It contains more than one

attribute.

28. Which normal form deals with

multivalued dependencies ?

(A) 2NF

(B) 3NF

(C) BCNF

(D) 4NF

29. Which of these statements is true

about BCNF ?

(A) BCNF removes all

multivalued dependencies.

(B) BCNF ensures that every

non-prime attribute depends

on a candidate key.

(C) BCNF ensures no transitive

dependencies.

(D) BCNF ensures atomic values

in columns.

27. oSdfYid daqth (Alternate Key) ds ckjs

esa fuEu esa ls dkSu lk lgh gS \

(A) ;g izkFkfed daqth ds leku gksrh

gSA

(B) ;g og mEehnokj daqth gksrh gS ftls

izkFkfed daqth ds :i esa ugha pquk

x;kA

(C) ;g fdlh vU; rkfydk dh izkFkfed

daqth dks lanfHkZr djrh gSA

(D) blesa ,d ls vf/kd fo'ks"krk,¡ gksrh

gSaA

28. dkSu lk lkekU; :i cgqewY; fuHkZjrk
(Multivalued Dependencies) ls
lacaf/kr gS \

(A) 2NF

(B) 3NF

(C) BCNF

(D) 4NF

29. BCNF ds ckjs esa fuEufyf[kr esa ls dkSu

lk dFku lgh gS \

(A) BCNF lHkh cgqewY; fuHkZjrk dks

gVk nsrk gSA

(B) BCNF lqfuf'pr djrk gS fd izR;sd

xSj&izkbe xq.k fdlh izR;k'kh daqth

ij fuHkZj djrk gSA

(C) BCNF laØe.kh; fuHkZjrk dks

lekIr djrk gSA

(D) BCNF lqfuf'pr djrk gS fd

dkWye esa ijek.kq eku gSA
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30. Boyce-Codd Normal Form (BCNF)

ensures that :

(A) Every table is in 4NF.

(B) Each determinant is a

candidate key.

(C) Tables have no multivalued

dependencies.

(D) Each column has unique

values.

31. Which of the following is a key

characteristic of a database ?

(A) Data redundancy

(B) Data abstraction

(C) Slow data retrieval

(D) Unstructured storage

32. Who primarily interacts with the

DBMS to manage and control its

operations ?

(A) End-users

(B) Database Administrator

(C) Developers

(D) Network engineers

33. In which database architecture is the

application layer included ?

(A) 1-Tier Architecture

(B) 2-Tier Architecture

(C) 3-Tier Architecture

(D) 4-Tier Architecture

30. ckW;l&dkWM lkekU; :i (BCNF)

lqfuf'pr djrk gS fd %

(A) izR;sd rkfydk 4NF esa gksA

(B) izR;sd fu/kkZjd (determinant) ,d

izR;k'kh daqth gksA

(C) rkfydkvksa esa dksbZ cgqewY; fuHkZjrk

u gksA

(D) izR;sd dkWye esa vf}rh; eku

gksaA

31. fuEufyf[kr esa ls dkSu MkVkcsl dh ,d
eq[; fo'ks"krk gS \
(A) MsVk dk iqujko`fÙk (Redundancy)

(B) MsVk ,CLVSªD'ku (Abstraction)

(C) /kheh MsVk iquizkZfIr (Slow data
retrieval)

(D) vlajfpr HkaMkj.k (Unstructured
storage)

32. dkSu eq[; :i ls DBMS ds lkFk baVj,DV
djrk gS rkfd mlds lapkyu dks izcaf/kr
vkSj fu;af=r fd;k tk lds %

(A) vafre mi;ksxdrkZ (End-users)

(B) MkVkcsl iz'kklu (Database

Administrator)

(C) fodkldrkZ (Developers)

(D) usVodZ bathfu;j (Network engineers)

33. fdlh MkVkcsl vk£dVsDpj esa ,fIyds'ku

ys;j 'kkfey gksrh gS \

(A) 1-fV;j vk£dVsDpj

(B) 2-fV;j vk£dVsDpj

(C) 3-fV;j vk£dVsDpj

(D) 4-fV;j vk£dVsDpj



A–1307 SECIT-03/16 ( 13 ) P.T.O.

34. In which data model is data stored

in tables with rows and columns ?

(A) Hierarchical Data Model

(B) Network Data Model

(C) Object-Oriented Data Model

(D) Relational Data Model

35. What does an ER model primarily

represent ?

(A) Data storage mechanisms

(B) Relationships between

entities

(C) Programming syntax rules

(D) Data encryption techniques

36. Which of the following is true

about a relation ?

(A) It is always represented as a

graph.

(B) Each row must be unique.

(C) It can have duplicate column

names.

(D) It does not need any

attributes.

34. fdl MsVk ekWMy esa MsVk rkfydkvksa esa

iafDr;ksa vkSj dkWyeksa ds :i esa laxzghr

gksrk gS \

(A) Js.khc¼ MsVk ekWMy

(B) usVodZ MsVk ekWMy

(C) vkWCtsDV&vksfj,aVsM MsVk ekWMy

(D) fjys'kuy MsVk ekWMy

35. ER ekWMy eq[; :i ls D;k n'kkZrk

gS \

(A) MsVk laxzg.k ra=

(B) bZdkbZ;ksa ds chp fj'rs

(C) izksxzkfeax flaVSDl fu;e

(D) MsVk ,fUØI'ku rduhdsa

36. fuEufyf[kr esa ls dkSu lk fjys'ku ds ckjs

esa lgh gS \

(A) bls ges'kk xzkQ ds :i esa izLrqr

fd;k tkrk gSA

(B) izR;sd iafDr vf}rh; gksuh pkfg,A

(C) blesa MqfIydsV dkWye uke gks ldrs

gSaA

(D) blesa fdlh Hkh xq.k dh vko';drk

ugha gSA
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37. What is an attribute in a relational

database ?

(A) A collection of tables

(B) A column in a table

(C) A single row in a table

(D) A relationship between tables

38. Which aggregate function is used

to count the number of rows in a

table ?

(A) SUM

(B) COUNT

(C) AVG

(D) MAX

39. What is a relation in the relational

data model ?

(A) A row in a table

(B) A column in a table

(C) A table itself

(D) A database schema

40. Which component of DBMS is

responsible for defining database

structure ?

(A) Software

(B) Hardware

(C) Data

(D) Procedures

37. fjys'kuy MsVkcsl esa ,d xq.k (Attribute)

D;k gS \

(A) rkfydkvksa dk ,d laxzg

(B) rkfydk esa ,d dkWye

(C) rkfydk esa ,d iafDr

(D) rkfydkvksa ds chp ,d laca/k

38. fdlh rkfydk esa iafDr;ksa dh fxurh ds

fy, dkSu lk ,xzhxsV QaD'ku mi;ksx fd;k

tkrk gS \

(A) SUM

(B) COUNT

(C) AVG

(D) MAX

39. fjys'kuy MsVk ekWMy esa fjys'ku D;k gksrk

gS \

(A) rkfydk esa ,d iafDr

(B) rkfydk esa ,d dkWye

(C) Lo;a ,d rkfydk

(D) MsVkcsl Ldhek

40. DBMS dk dkSu lk ?kVd MkVkcsl lajpuk

dks ifjHkkf"kr djus ds fy, ftEesnkj gS \

(A) lkW¶+Vos;j

(B) gkMZos;j

(C) MsVk

(D) izfØ;k,¡
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Rough Work/jQ dk;Z
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